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Solve for x.
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Use the information in the problem to answer the following questions,

6. You own a vintage clothing store and you have been keeping track of the value of several items
since the year 2000, Some items get more expensive over time while others depremate The
following equations give the price of your items over time. y=price ($), x=years (since 2000)..
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a. Which items cost the most when you started keeping track? How do you know?
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b. Which item(s) are increasi g in va[ue’? How do you know?
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¢. How much does the Puffy White Shirt cost in the year 20507 Does this answer make
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d. Find a year where the Van Halen Concert T-Shirt is the most valuable item.
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e. Find a year when the™Back to the Future” Baseball Hat is the most valuable item.
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f.  When will the Sundress with F[owers cost exaclly the same as the Acid-Washed Jeans?
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Solve for x by factoring:
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Draw a sketch of the situation and answer the folloﬁv”‘ing questions: -
12. Mr. Maurer is on a bridge that is 80 feet above the water and he throws a small rock up with
an initial speed of 64 feet per second. Assume that gravity’s number applies.

a. Sketch the situation. b) b:‘:— __../6><Z—+ éb/X% 80

b. Find the time when the rock hits the water

¢. Find the time when the rock reaches its maximum height ___ é[ z._ —_ >
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ldentify the bias in each survey technique. Describe as many examples of bias that you
can find.
13. You want to know what CHS students are eating for lunch, so you ask the first 10 people who

walk into the cafeteria
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14. You want to know h

eople feel about immigration in Amerlca s0 you design a survey and
post it on Facebook. The survey question says “More people have immigrated from the United
States to Mexico than from Mexico to the United States over the last decade. Do you support the
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Draw a dot plot that flts ea h description. Use numbers between 0 and 100 N > 10.
15. Draw a dot plot that has the smallest possuble standard deviation. Calculate the mean,

median, and mode. I /4/ %d 0_—# O
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16. Draw a dot plot that is skewed LEFT Calculate the ﬁean medlan and mode. /\/(_ 6 205
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Use the box plot to answer the following questions. The box plots represent the times of
how long people can balance on one leg compared to age.
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17. Which age group has more individuals who can halance for longer than 16 seconds‘?(b) /gp:Iif
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18. Which afjgroup has more lndlwduals who can balance for less than 22 seconds?
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19. Which age group has a higher medlan’?
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